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NEfL_ BINEL o GROSS | HDCP_| NET it NERL BN 4 th GROSS | HDCP | NET %
k| mts K= a7 47| 13.2] 33.8 41 fr | RARR B\BR 44 44| 60| 38.0
AEGEEE | e A 38 38 3.6 34.4| 42 fir | # L #=E 50 50/ 12.0| 380
(\’% HAE ER 37 37 2.4| 34.6 43 fr | =& #%iE 44 44 6.0/ 38.0
VA [ 42 42 7.2] 34.8 T RIS Bk 44 44 6.0| 38.0
5 L) EE IEVS a1 41|  6.0| 35.0 Al 44 44| 6.0 380
=B ho)| lx i 41 41 6.0 35.0 46 fir | &8 T 43 43 4.8| 38.2
CTRD A 41 41| 6.0] 35.0 47 fL| @A IE 43 43| 4.8| 38.2
g’gﬁ R —%k 40 40 4.8| 35.2 48 fir | WM ik 43 43 4.8| 38.2
9L HRITRA B 40 40 4.8] 35,2 49 i | B8 =W 42 42 3.6] 38.4
0 (i B 46 46| 10.8| 35.2 rs”@“j@; RE ) 42 42| 3.6 38.4
1) B B 40 10| 4.8 35.2 5147 | i 2 R 48 48|  9.6| 38.4
12 7 | #iL FEA 38 38 2.4| 35.6 52 {ir | TIL %k 48 48 9.6{ 38.4
13 fif | A8k pE— 38 38 2.4| 35.6 53 i | M &b 47 47 8.4 38.6
14 {7 | FE [dn 38 38 2.4 35.6 54 4z | i+ JIB 47 47 8.4 38.6
06 fny| tex Ak EW 37 371 12| 35.8{BGQ 55 hnl)Ila =) 47 471 8.4 38.6
16 47 | HH HE 42 42| 6.0| 36.0 561z | LI 1E 45 45| 6.0| 39.0
17 fir | 1)1 REsE 42 42 6.0/ 36.0 57 i | HF BE 44 44 4.8| 39.2
1BL|EA FH 41 41 4,8 36.2 58 {ir | FM M5 48 48 8.4] 39.6
19 7 | HRAE FE 41 41 4,8, 36.2 59 fir | E5H AZ 48 48 8.4] 39.6
@0 {if | mH PR 47 47| 10.8] 36.2 B0 fip| Kpe 4 42 42| 2.4 39.6
21 (i | #A)1] Bk a6 16 9.6| 36.4 61 i | 538 FHE 48 48 8.4i 39.6
N 2R 40 40| 3.6| 36.4 62 {ir | Tl 01T 53 53| 13.2{ 39.8
23 1 | (LA ¥ 39 39| 2.4| 36.6 63 fir | Aiti #4 53 53| 13.2] 39.8
24 i | Foug 3% 45 45 8.4 36.6 64 fir | B F 50 50 9.6 40.4
(@5 fi | mh HE 51 51| 14.4| 36.6 B BlE4 ¥ 56 56| 15.6] 40.4
26717 | /R B 38 38| 1.2| 36.8 B__M | #0F fl% 51 51|  9.6] 41.4
27 L | /MR fEHE 44 44 7.2| 36.8 .
28 {ir |fAPy —pE 44 44 7.2] 36.8
29 fir | F/Npg HRL 43 43 6.0 37.0
80_fio)| M e 43 43] 6.0| 37.0
30| Il Foi 49 491 12.0| 37.0
32 i | KAMR (& 42 42 4,8| 37.2
o S 42 42| 48] 37.2
34 i [ EX 10 10| 2.4| 37.6
(3% fn | HE Bk 52 52| 14.4] 37.6
36 fir | AfR BIA 40 40| 2.4| 37.6
37 i | RAMR FER 46 46 8.4| 37.6
38 i |iEM HEE 40 40 2.4 37.6
39 {7 | &HHE H= 45 45 7.2| 37.8
40 {7 | THE % 50 50| 12.0| 38.0
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FEALHE © A (B WOIE) - BB S WIIE) ER - %0 74 9H 4R (R)
JEfE BN 4 i) GROSS | HDCP | NET fii# JIEAT BINHEA il GROSS | HDCP | NET {iii =5
L ) 49 49| 14.4| 34.6 41 fir | e Sl 44 44 6.0] 38.0
MR RE R 43 43| 8.4] 34.6 42 i | v A& T 44 44|  6.0] 380
O3 AL THE ok 41 41 6.0/ 35.0 43 fif | VB2 56 56| 18.0| 38.0
S EAPNCN 40 40 4.8] 35.2 4 () UFE (5 50 50f 12.0| 38.0
(5 iz ILsh Br=#p 39 39| 3.6] 35.4 A5 | )l k% 49 49} 10.8] 38.2
"6 fig| &8 EA 45 45| 9.6| 35.4 46 fif |2 M— 43 43| 4.8] 38.2
&7 @ M AT 44 44 8.4| 35.6 47 fif |4 L 49 49| 10.8| 38.2
(8 fif | ®ih B 44 44| 8.4| 35.6 48 i | BN WA 49 49| 10.8] 38.2
€9 fi| ik BT 38 38| 2.4| 35.6/BG) 49 {I [ FA AB 48 48| 9.6 38.4
10 finy] F1E 3% 54 54/ 18.0| 36.0 50 i) AR 8= 48 48] 9.6| 38.4
FOR A 42 42 6.0| 36,0 514 | # e IE 46 46 7.2| 38.8
12 f | MG #5 48 48| 12.0| 36.0 52 {ir | B4 [l 46 46 7.2| 38.8
13 {if | FF EHF) 42 42 6.0/ 36.0 53 i | /N EERT 45 45 6.0/ 39.0
14 fiL | Al E5H 47 47| 10.8| 36.2 54 {7 | 7EH B 44 44 4,8 39.2
a5 fig | FIE = 10 40| 3.6 36.4 55 fir | LB W 49 19| 9.6] 39.4
16 ir | KUF BhF 40 40 3.6| 36.4 56 {if | ZhE ER 47 47 7.2] 39.8
17 4 [ (A BE 45 45 8.4| 36.6 57 i | T 47 47 7.2| 39.8
18 fif | Tk 39 39 2.4| 36.6 58 i | K 0 51 51 9.6/ 41.4
19 | 305 5 45 45 8.4| 36.6 59 {ir | e FERE 50 50 8.4) 41.6
C20 fif | B3 %l 14 44| 7.2| 36.8 BB | mE 817 49 49| 7.2] 4.8
21 fif | /NI &2 Bh 50 50| 13.2] 36.8 B_M|#4 HEF 53 53| 10.8] 42.2
P 49 49| 12.0| 37.0
23 fir | B ALE 43 43 6.0/ 37.0
24 fiL |RTM %20 43 43 6.01 37.0
(25 'g\ [ 49 49 12.0f 37.0
26 i | 1EFH 7% 43 43 6.0/ 37.0
27 fif | i Hik 42 42 4.8| 37.2
28 fi | A\ HAHE 42 42 4.8| 37.2
29 {if | tPff FHHE 42 42 4.8| 37.2
B0 g W 18 48| 10.8| 37.2
31 fi | B 2 47 47| 9.6] 37.4
32 fif | 3SI4E EA 53 53| 15.6| 37.4
3 (| ATE M 41 41 3.6| 37.4
L | % 47 47 9.6| 37.4
a5 b |k HER 46 46| 8.4 37.6
36 L | FkG BB 46 46 8.4| 37.6
37 L | fex R J/E 46 46 8.4| 37.6
38 i | &M IEZ 46 46 8.4 37.6
39 {if | Il Ak 45 45 7.2| 37.8
L (7 | m mE 14 44| 6.0| 38.0




